Math 308 Quiz 8
June 24, 2015
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Instructions: Answer all problems in the space provided. Show all work.

i Prove('qthat1+5+9+ -+ (4n — 3) = 2n? — n foreveryn € N. (4 points)
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2. Prove thatn! > 2™ for every integer n = 4. (4 points)
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3. Prove that 4—|(5” — 1) for every nonnegative mtegern (5 points)
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Bonus problems:
1. Let P(n) be astatement forn € N:
(a) Describe a proof ofP(n) by mmzmum counterexample W =
A +4 1 L]
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(b) Descrlbe the structure of the proof for P(n) using the Strong Principle of Mathematical induction.
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